ooooooo 2013/6/26

4 N

BB 12000000000 ooooo - E

Ooooooooooooon Pe(l, 1), Q1,00 ooooon p0<p<loooooa Pi(p, p),
Q(p,0) 00000000000 nO0000 Py, Q0000000000

00 Q,00000 QP;00D00000DDD OPp 0000 Py DOOO
00 P, 000 yOOODDO0OO000Ox 00000 Qup 0000
000AQ—1P,Q, 0000 S, 0000000000000000
(1) Si0pooOODOO
(2) 0022000 ¢O0000000 Q0 z000 p,gqUOOOOOO
(3 S,0 p,nOoOOooon

(4) nDOODDOOOpD 0<p<1O000D000DOODOS,000000 pODOOODODOS,0000
OnDOO0O00O0O0OO

(b)) (Hoooo SnDDDDD}ZL@OnSnDDDDD

- J
0000mOo000ooooo
75 &t

(Lo oooo S, 00000000000000000000000000 000000000 oOn
oooooooo@G) 0000000000 0D0O00NoDOOo0oooo

L) L

LS

(1) S50 AQPiQ 000U ooPi@Q =5 QQ=1—pO0ooon

Slz%p(l_p) ...... (o) Y b,
(2) Do PIQoUOoooo 3 oooooooon QP, 000000 P
p—1 b
2
yzpfl(x—q) o .
0000000 y=2x0000 P,00000C Q Q@

T = pgl(x—q)

x = pq
0000Q,0 z0OOO0Opg-+(0)
3) Q02000 ¢ 000000000(2) 000¢y+1 =pg, 000000g=1000
gn = D"
oooooooo
Su = T PuQu X QuQu1

1 7 n— 7
= 50" (0" = ")

—22— ©oooo0o0O0000oodmakoto



ooooooo 2013/6/26

(4) 3)oooS,0 poOoooooo

ap = 7 1@n—=Dp" " —2mp™'}

— % P29 — 1 — 2np)

0<p<lDDDd&lZODDDDDDpZEQ:LDDDDDDDDDDDDDDDDDDDDDD

ap n
b 0 - % -1
dsS, _
dp + 0
Sn / N

ooooS, 000000 pOoO0o

p= 2”2;1 ...... (o)

goboobodgn

_ 2n—1 o omn
oo~ H(HEL - (%)
=5 (T ) (- 25)

oooo

() WoooooDOoOooOoDO

71L1—»r£10 nS, = }ZLH% % < 27’12; 1 >2n—1
:7;1190%(1_ %>zn on

0000000000000000000000000000000000(G)000000000000000
oobobooooooooooboooOooOoboOoobOoOoboOooOoOooooOooon

goboooobooboboooo

A . 1\ _ 1 L
(i) xllrinoo<1+ x> =e (i) Ll_r’r(}(l—i-x)f =e¢
o 1o log(l+2x) . . ef—1 _
(i) ?g& T =1 (iv) ?L% T =1

ooboboooooooooobooooboboooboooooooOooooa

—23— ©ooooo0O00onoodmakoto



